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INSTRUCTIONS TO CANDIDATE

Candidates are to use the Answer Sheet provided.

Ensure that you fill in your Application No. correctly in the space provided in the OMR sheet.
Candidates are required to mark the correct answer choice by shading the circle completely with
blue or black ball point pen. (Pen of any other colour or pencil is not allowed). For example, if the
correct answer to question no 1. is 'B' then the marking should be:

Wrong method 1. Correct method

00006 06

Write your details onthe OMR sheet which are asked for.

Only one circle, i.e. the correct one should be shaded. Shading more than one circle will
render the answer invalid.

A candidate having completed his/her ANSWER SHEET must hand it over, even if blank, to the
invigilator.

An examinee must not bring any loose paper, book, etc. to the Examination Hall. Any examinee found
in possession of even loose papers will be EXPELLED.

An examinee must not talk to, disturb or seek help from a fellow examinee during the examination.
Any mechanical or digital calculating device (Smart Watch, Mobile,calculator etc.) shall not be used
by the examinee during the examination.

No candidate will be allowed to leave the Examination Hall before completion of 3 hours.

For each correct answer 1 mark will be awarded and for each incorrect answer 0 mark will be
deducted.

Duration of the exam is 03 hours from 11:00 AM to 02:00 PM.

Subjects Questions| Marks
Mathematics 40 40
Science 60 60
Reasoning & GK 25 25
English 25 25
Total 150 150

Contravention of any of the instruction mentioned above shall render a candidate liable for
disciplinary action as per rule.
Date of Result Declaration : 20 - 01- 2022

Full name of the Student:

Your Application Number Invigilator’s Signature:

Address: Bordoloi Colony, AJMAL Super 40 Campus, Hojai, Assam Pin: 782435  Phone: 03674-254004



ADMISSION TEST— 2022

For Class - VIII

Time: 3 hours

Full Marks: 150

MATHEMATICS / 9fe® (40 Marks)

If g take two fifth of a number and add 7 to it, g get 15.
Then the number is

2 T @Bl AR 2 A% 27 O T 791 7 (ot Fa
T, (ST g AW 15 T | FRAH! [F 2
g W, G {B LA 12 A% ZW, Ga2 A A 7 ¢
T g @7 T 15 27, oiggs 7w fefa 791

(1) 10 ()15

(3) 20 4) 25

The additive inverse of —% - (—%} is

3
—_—[—éj G AATE Roidre Mofm da —

—l—[—lj 3 Caisiig Roife wReTH 23 —

1
(M3 (20

1 5
3) 3 4 S
Ifa:b=1:2 and b:c = 3:4 then a:c is
T a:b= 129 bic =3:4 T, (ST a:c AT TI—
TMa:b=1:29a2b:c=3:4 T, A a:c 97 A Ta—
(1)3:8 (2)8:3
(3)2:3 (4)3:2
One side of equilateral triangle is 3x — y°, its perimeter is

T <51 TR [Agea A2 9 3x -y’ T, (ST R

In the fig, ABCD is a rectangle. The length of the diagonal
AC s

fo@® ABCD @5t wirera 2t#1 T AC F¢(1 (e 29 —
foem afefe ot ABCD «=fo wimrerman AC Fuefa oy
Fefa=a1

(1) 7 cm / cmefae /s (2) 25 em / c=efite / (asfie
(3) 5 cm / gty ez (4)4/7 em / s/ @isfite

In an isosceles right angle triangle each of the acute angle

is
@Bt TN AGArE (e aferst 7q @ =a Mo—
«& o A Tz fqerea afel st = Fe 2
(1) 30° (2)45°
(3)135° (4)60°
In the given fig. lines p and g are parallel. Find value of x
so that lines / and m be parallel
2 foae p Wi ¢ ([UAe TGS 2| x I F A2 A3
[ O m (A 4 TN 29 ?
Fem afefe fora p Wz ¢ TaeTadien TEAE | x 97 @

AT G 18 m AFFCALEE ANGHA =0F ?
I

off<F 29— X5  d
G e faeres @a b g W 3x— )’ T, o= p q
fagaia sfesim Ao 741 X+S
(1) 9x +3y° (2)9x -3y’ (1) 45° . loosm
(3)3x-3y° 4) 9x -y’ (3)135° (4)60°
Find the value of 4§ - 22 + 31 The measure of that angle which is four times its
6 8§ 12 supplement is
4223 .37 qum fdfa w1t B! (e M7 O I TF (o Bife 2'0e @IeE Tt
6 8 12 29—
SR E 4222431 G (@FICTa T Fefa 799, @ @@ o T @ i
6 8 12 BiF & |
145 145 92 145 ' o .
(l)ﬁ (2)3 (3)5 (4)T (1) 36 (2)144
(3)155° (4)180°
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100 D di der of fracti 137 13 15.  What should be substracted from 0.1 to get 0.03?
‘ escending order of frac long’?ﬁ’z_g 0.1 7 »[t f& feaet #f4s1 0.03 232
137 13 0.1 @7 (ATF FS [raiel Faa Rraeree 0.03 za 2
— =, — & YIS AT F4 |
5710 28 (1)0.7 (2) 0.07
137 13 (3) 0.04 (4) None of these / «B1e 727
e 5°7°10° 28 16. The product of two integer is 12, if one integer is
13 7 3 1 13 7 3 1 —3 then other one is
D3%>1%6°7°5 PD5<10°7°3 B 5Jef AR o[ 12, ST 51 AT 3 2 SACO!
; 7 13 3 1 R RI—
1607287775 B TRAA T 12, T T e 3 2, O W
(4) None of these / @bie 72¥ / @Ble T2F IRYTI TS 2
11, Ifx=2, then find the value of x + —2 (L4 -4
. X . valu X 1 (3) 3 (4) -3
1- 1 17. A man had bank balance of * X lakhs. He gives away
1-=
X é th of it to his wife, lrd of it to his son and the rest to
Tft x =2 7F, (9@ x+ 3 i faefa 4 charity. If the total amount donated to charity was X 7
1- 1 lakhs. Then find the value of X.
1-— 1
x G WRE @@ X Wwwlﬁwg«ﬂm
=237, : 1 “
W 2-@%“1_ [ e Ceiee, e e i i R W w1 7 cod
1
- 7 =11 5 Wi A, (S0% X I W e w4t |
3 T TG AF X 7% bl SR F o 75 b=
(1)-3 2) — 1 1
4 grﬂmrﬁaﬁwaﬁzg T oi7 2 @ WD Bl Wi
4
()3 (4)0 a9, 7 fa wiw T4 Biwia sifasd 7 o1 Siwt 29, o
12.  Number of Rational number between two number is X @A F9?
5t AR ST At 2ATCTm AT A2 (20" (1) 15 lakhs /=4 (2) 12 lakhs / =¥
BB AT TS oW AT AN F9 2 (3) 6 lakhs /= (4) 8 lakhs /=12
(1) Zero /el (2) one / @Bl / @ 18. If we cut one rope only one time then we get 2 pieces of
3) two /Wl / 4) Infinite / S5 rope. How many pieces will we get, if we cut one rope 3
(3) two Eﬁlﬁ (4) Infinite fimos
13.  Simplify 222 - [—{42+(56—8+9)} +108} T A G FIOCA 12 (OIA 7(6 27 | A% 706 T 3
3 T FB1 T, (ST (T (O 7 (711 A2
222—[1{42+(56—8+9)}+108}?FW?MTI T GFTS WIerF TR FI60a 12 5ol Wi 20 O wieHed
3 oot FIBCE WSt T jara How 24 ?
AT 222 F{42+(56—8+9)}+108} (1)6 (2)4
3 3)3 4)5
(1) 87 (2) 100 19.  Find the length (in m) of a rectangle given that its
(3) 89 (4) 90 perimeter is 880 m and breadth is 88 m
14.  Which of the solid has no vertex ? G5! STerFad Af 880 o =i 2 88 v 2w
TR (FICH FFR (FICA A g AR 2 Taie o e w4
Fva @ wigfen @i A T @2 88 fiibta 2% ¢ 880 f3bH wifasinn [ uafd wrerwraa
(1) cone /%€F  (2) cylinder / peFToq 77 / Hferem e Fe ?
(3) cuboid / STSTTRCF (1) 352 (2) 252
(4) cube / TF (3) 152 (4) 452
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20.  2x(3+5)=2x3+2x51is an example of 26. By how much a’ +b° +c” is greater than
2x(3+5)=2x3+2x5 (2™ F 95! TwizEel | c* —4a* — 6b* +2ab
2x(3+5)=2x3+2x5 «fb form Twizad| ¢’ —4a®> —6b* + 2ab OF o’ +b* + ¢ FAT TET?
(1) Distributive property / eae &y / fFeae fafy ¢’ —4da*> —6b* +2ab (AF a’ +b* +c’ FS (@A ?
(2) Commutative property / e f&fy (1)-5a> =7b* +2ab  (2)5a*> +7b* —2ab
(3) Closure property / & '&ria ff% / F e &% (3)54> —=7b* —=2ab (4)5a> +7b* +2ab
(4) Associative property / FzEaIaT &ty 27.  Find the value of polynomial 8x —2x* +3, if x =2
21, If (5x — 5)4 = 80, then x =? T x = 2 2, (OC@ 8x —2x7 +3 q2o Aifda = fefa ==t
T (Sx — 5)4 = 80 T, (ST x =? W x =2 TW, O3 8x—2x° +3 &F W FWefa F4)
T (5x — 5)4 = 80 2, O x =? (1) 6 )7
(1)2 2)3 3) 11 4) 12
3)5 4)6 28. Ram left for tuition at 4.15 p. m and returned home at
29 The rational b valent ¢ 2. 6.55 p. m. For how long was Ram gone
' © rational number equivaient to _718 TS WA 4.15 qee Teseca T i< A 6.55 I
2 Tz | e e g ?
—Z 7 w7arge #If<TTE FRAICH 7I— TR W R 7R ol
7 Rtae1 4.15 (o 7 =it oo @l w9t 6.55 = Aife
2 R T oW AL (@A — fereen, s o Qifew atzea fea 2
7 (1) 160 minutes / ffe% (2) 140 minutes / fif 5
=78 2)=82 (3) 120 minutes / ff % (4) 100 minutes / BB
1323 1337 29.  Ram had 4000 biscuits in a jar. He sorted the biscuits into
3) —400 (4) —400 200 different stacks. Each stack had the same number of
1407 107 biscuits. How many biscuits were there in each stack
23. I (~1)" =1then n must be a/an T @bt TS 4000 S =iz 1 7o ffq 200 51 fom
Tt (-1)" =1 T, (SCT n &b 29| c2it7® t2tr| A 2iferht c2iore v Kgs <A e
of% (_1)"=1@’mnwﬁ_ Q%C%TCQT%MWWQ
(1) odd number / S5y AR AT FIZ GFH TR 4000%&@@1’@, C’Iﬁ’iﬁ afers
(2) prime number / e At 200 & =it SB7iTs @i, wfn alfeld Biits ww weaw
(3) even number / 4 e F0 AE, o3 ol Wit Fouk Fea 750 wite?
(4) natural number / ?I@T?ﬁ?;“{?ml 8; gg Ei; 28
m’ —2m—
24.  Ifm=-1 then the value of m> 30. Sameer has %th of a Pizza left. Karan eats %th of what
MW m=—127, (ST —m3 —2m-1 AN — was left with Sameer. How much Pizza is left with
m’ Sameer now
3
om— 5
qﬁm:_lm,mw@m sﬁ«@maﬁﬁmgwmmlﬂﬁwqaﬁﬁﬁm
m
1)-4 2)4 3
80 5432 gwm,msﬁwmmmeﬁmwﬁm
25. By how much is the sum of 16.145 and 13.215 greater 5
than their difference Focad Fitg 9wt e @q gw TS TR | F49 T
16.145 3= 13.215 7 (AlorFe 2201 Raiommerets 3
Sieq? A e @7 gwcﬂtszmﬁaamﬁew
16.145 @ 13.215 7Ry 4foa caioreet, ARAGHA S@@D G TS O] SR A ?
(ATF F© (T ? 29 13
(1)29.36 (2) 2.93 M= @
(3) 32.29 (4) 26.43
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25 10 35. Solve the given algebraic expression
(3)4_8 (4)ﬁ x*—2xy+y’atx=-3andy =2
31. Ori1 Monday Ga%lan w;nt to the linar}lfet 1z;tnd bought .’; pens x=3®y =290 1’ - 2xy + ) AT sifoers
and 4 erasers and paid X 33 to the shopkeeper. On the next o e
day he bought 6 pens and 3 erasers and paid % 36. What SN al , ,
was the cost of a pen IFx =38y =294 x" —2xp+y =?
CASRITA 949 qEaCa (ol G 33 5t @ 3 Bt Fvemw @i 4 (H1 (2) 16
Bl 2w e | o1 it A St qwaa oo 36 5wt fr ()4 RS , ‘
651 25T S 351 2T R | FANCHE Wi R i 2 36. The area of square plot is given as 441 m~. What will be
the perimeter of the given square plot
R, Iera e € 4 0 7913
o o 3 © o R @ FofiFra cFaa Fife 441 +6@ 2 Te A
RS Tenaa 33 Bt fwel, o taa fam (1 6 2
g q4|< ¢ s ﬁﬁ?j?ﬁﬁ . W&W CHFaTE qlﬁﬁa @ﬁlﬁq
ﬁwﬂ;::jm%%mﬁmﬁ?mw TE T 2 s afie JPRpa S — .
FEACAA TeT ? &5 )
(1)%3 (2)34 | Fo e & &
32.  Find the ratio of 210 to 10 paisa (3)84m/ T (4)90 m/ T
10 B¢t 31 10 S al 37. Ram covered a distance in lhour. Varun covered the
10 51t @3z 10 7519 SRpeiie faefy &1 16
(1) 100:1 (2) 1000:1 same distance in ihr who took longer time to cover the
(3) 1:100 (4) 10:1
33. If a worker needs 6 hours to complete a job, then how distance and by how much
much time in minutes will he require to complete 2 such
jobs 1 P T <ot TS vag wfeers Face v om %‘ﬂﬁa‘noﬁ
T T *TTEFT 51 FIW FERCA 6 T T A, (ST (12 2
T 436 YOI I Ffqacat i ffs s wiifara 2 «ﬂwmwwmmmmgﬁnmaﬁ
T G FIGIAA G0 FIG T FATS 6 TB1 77 FAMCA, Ay WS F(€40e T (AR 578 O e @iy 7 = |
(A 6% GFL FIAE GFeFa 2 b FE 7oy FAre FO 7 8
335 s e 2 R - O g e woar s, Tl R R
(1) 620 min /TG (2) 720 min / G B TS F7A, O (F (T A 008 @R F© @R
(3) 500 min / fSifeG (4) 800 min / fifa6 o e ?
34. Ravi travelled by a scooter at the speed of 30 km/hr for 1 1 .
hr. Then he took a bus to reach his destination. The speed (1) Ram by ghour /
of the bus is 60 km/hr and it took him 2 hr to reach the 1
destination. What is the average speed at which Ravi (2) Varun by ghour /Tt
travelled? |
3 FrfETEa Tere WS 30 Fefe @raa @ (3) Ram by Ehour /B
TR F613 5o | O Foree 1 atee T3 atway gmee 7| |
Tt g ¥R (3% TBTS 60 Fefiie = 2 7519 #igs B (4) Varun by Ehour/*ﬂfﬂr
TG Z 2 | (90T 3 o e AT (3 T 33 2 38.  The number of girls are one fourth the number of boys in
74 30 fefiie/at aferaeet @& w1 A2 ¢ oiFe[ A the class. If the number of boys are 32, Find the total
F(A OIF G (MR T A0 siferast 60 e/ st number of student in class
mﬁgmaﬁwzmwcﬁnﬁ@ 4, o4 «ﬂﬁcﬁiﬁ@?ﬁ?mﬂﬁﬂﬂ?ﬂiﬂmtﬂﬁwﬁnﬂ,ﬂﬁw
i T (TR o1 ferant e | R 32 7, COLT (DS 41 o Qa7 At ffa
(1) 50 km/hr / fefte/ w1 F4il
(2) 45 km/hr / Tsfiie/ %1 @F M (ANTS BAF TR QTR TR 9F bofiedt | T
(3) 35 km/hr / sfiie/ =51 BT AN 32 T, O (HATS (T QA-RaIF A F ?
(4) 25 km/hr / TsfSis/ <6t
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(1)8 (2) 24 e, RIEd, FE, GREG!, e, AApete,
(3) 16 (4) 40 @adrt
39. Logan is looking for the Prime factors of 162. He knows e
that one of the Prime factor is 2. Which is the other prime ?ﬂ?i T , 7, T, AP, A
factors? 42. A quantity has value of —6.0 m/s. It may be the
(IR 162 7 (o Tevtive S Reifare | B @i @Bt A W 6.0 fvee 1B =3
@RI B s Bl 27 2, WH (e Teotss | R AR A 6.0 fueni el
73— (1) Speed of a particle
CETA 162 @7 (e Beriiva feftaa (58! Fatg, Tw “ﬂzgjiﬁl:fsﬁg
T (NS TLAWE 2 20, O0E W9 (e TAAWT 7 2 o o
(1)9 )7 (2) Velocity of a particle
4 G o Felg @t
40.  Solve T60 " 0.035 (3) Position of a particle
4 a5t o<l FeliE g
4 (4) Displacement of a particle
o= fefa F7 Teg T 0035 a5t ol Firg 76
(1) 0.06 (2)0.16 a5 e Feirg w@a
(3) 0.05 (4) 0.04 43. A virtual image can never be
bt e effefag @fente
2 G s eifefay F4 =TS #Ata
SCIENCE / (60 Marks) (1) smaller than the object
41. What is the order of the colours in the spectrum formed T 8 %29
when white light passes through a triangular prism? 7T T (5T (=
291l (2liza Bt TagTiea ferema srea o 02 oite 8 (2) larger than the object
(217 3¢fieTre 96T FCH T'T— T TGOLF T 2T (A
A @ @l fagerera e i fim Tewr s (3)“‘“?“‘?’”"@“
9 7ren N 9 to T— captured on paper
(1) red, orange, green, blue, yellow, indigo, oS T
violet TN A
!, FEAI, GGG, T, Zrwd, A, (4) upright if the object is upright
P . ’ fon =3 @RE o =rw g e =
e, T, FE, e, T, oipare, (A rol, e <7 T 4ot 2
(2) red, orange, green, yellow, blue, indigo, 44. A car moves with a speed of 60 kmh™ for 20 min and then
Violet at a speed of 30 kmh™ for the next 20min. The total
I, FE, GIEGI, T, qret, Nparet, distance covered by the car is
e @4 o8t 20 FifAGa ATa 60 fefite/ w51 sife =l =Tt 20
?{m,w,m’w’%’w,mﬁ? WW%%E&SWNW%WW@WW
(3) red, orange, yellow, green, blue, indigo, il :Iéj LS
violet o oMt 60 st/ aiferarat eem 20 fif b @3k #7aet
!, FEAl, AT, EReG, Te, Mpare, 20 farfsi5 30 fesfaie/at aforarat wismm 27, A @is 7o
STk Y SO FCA ?
e, FEI, 26N, TG, A1, G, @ (1) 10 km (2)20 km
(4) red, yellow, orange, green, blue, indigo, (3) 30 km (4) 40 km
Violet
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45.  Which of the following motions is not uniform? (1) m/s — velocity (2) m/s*— acceleration
oA (ITCBH 41 e i w=w 2 /- @l /2 -w=e
feea e e oif a2 /@ - @ /e -
(1)%975?’:%?1-3%12‘;:%&6@%%2 o (3) light yeafj distance (4) g; //;_(::I;Iacement
ofIF TN FFoTL AT GF 6 TSR PN &
(2) A ball rolls along a table without changing SR - 7] . 7 -39 '
Velocity 48. Ahmad looked up at the night sky and observed the things
oifeae (ITAE G he could see. From the things he could see, he made a list
\6 b
i 5t 4R eTe R of the sources of light in night sky. What should he write
4P ol 79 . down on his list
@b 71 (391 S 7 Fq G (Bl A SRR AR ST T 512 51 (wt (ol 7 TR
R Fa | Tt {2 Tz 9 ifed wiwmre ordi #ifRfee o o wife
(3) A jogger runs 50 m along a straight track T (AETT T TZA G Sifer 7w | 2 oo
at a constant speed SR .
@4 AT 50 Fi5HR fiee AR #19e @i @ P e o
oS 3 <t TZTW ATSA AFHRUCE SIFITE R AT FAE (7
T Tl 7T LR % @i 50 RS GTE (1 (AT A1 | (7 (3 TEfemats (rete «im st (o,
i ST TS TFR TR TR G b wifereet (o Farem | @
. siferea @1 ferrafee 2
(4) An elevator moves vertically upward at ' .
zero acceleration (i) Moon / o&% (ii) Stars / &9t / &1
T el (ol G207 ifS T <t e Foreed (iii) Cloud / &4 / G4
G oD ¥{elf §HA CErHeIta YA e bt (1) (i) only /=11 (i) / WY@ (i)
46.  As the distance of an object from a converging mirror (2) (ii1) only / <T@ (iii) / BYA (iii)
decreases, the image (3) (i) & (ii) / (i) == (ii) / (i) @3% (ii)
Q4 ST WA CFae o7 T8 I e, effefg (4) (ii) & (iif) / (ii) == ( iii) / (ii) @92 ( iii)
b SIS AATTa (L TG 179 e, elfefaras 49. In circular motion the
(1) increases in size and moves away from the 3@;1 sifow
Mirror
s Jew Afere
if% AT A i bt (1) Direction of motion is fixed
TR Iia 207 938 7S (T Td A | oif firet g1 2w / oifa o Bm =
2) 111\1/f'reases in size and moves toward the (2) Direction of motion changes continuously
1ror qﬁmﬁqmiqm 9@3’\‘7—4 3
1 I 23 A v evate bife wifza oifa fies Ttar SRR 2
' éﬁm R ' DT (3) Acceleration is zero
(3) decreases in size and moves away from the e el 28 /G792
Mirror oo S
ST SR & R o St wa “) ‘g};’“ty ‘;;"n“a“t
) WW R WA (ST A A A 50. A man standing in front of a plane mirror finds his image
(4) degreases in size and moves toward the to be at a distance of 6 metre from himself. The distance of
Mirror man from the mirror is-
I FOE S wireTa Fice oifst wnfza | TTE WL YA 2 02 2 e e 2Afefs af
SIFICA ZI AT 2R W #ATeT F1CR 5L A ($e7 71 6 T3ibIa aws oI5 21, (STg witAm 4= o
47.  Choose the incorrect match. SR Y 2 —
o TReat
el s o ot T T e o e ety
(e R e (4t 6 b e oifve 20 Mo ats @ Ffefa
LELES
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(1) 6m (2)3m (3) Thunder can be heard before lightning is
3)2m (4) 12 m seen
51. Electricity does not flow through IGaATe (LS SIS 2AE W= wfie @ife
A wren e eraifze 23 e TGS (T SR TGS 7 Colrtl A
_ e@ iy farw Rge RS =@ A (4) A returning echo is heard after a Split second
(1) Human body / <23 *<11 / M+&twa Delay
(2)Animal body / 2l =R / elifitnz HerT SR % e A
(3)Rubber / 999 / 3414 Tgrea f[AeTy Atz @b efepaen efewf
(4) Silver / %9 / T4 SIIRIE]
52.  The motion of a pendulum is 55. The diagram below shows an electric circuit
orEEa offe were frat foqe «ufel tamefos a6 fow myedt tare
GFH (AT IS 2= Firoa @zl (e vifFTHa 51 (7= 2% |
(1) Rotatory / 9¢e / efarstiey ®
(2) oscillatory / (&R / (RIS pub® Switch 2
(3) curvilinear / I / IF |
(4) rectilinear / J14@1 (AF / FIACALT Bulb C =
53.  Inthe circuit shown if bulb B, fuses then which bulb will Bulb A \ Switch 3
not glow Switch 1
TES (WY e TGS A B, ! RS W, (ST (FICH!
TR TG ? In which order must you close the switches so that bulb A
_ p lights up first, followed by bulb B and
v 7T @il =R 3 AR B, rvw =1 o then bulb C
(D A T — 3 TS P27 (25! 7% TR0 2T AR A , T AT A
B'@ @Bs B S (¥ A5 C Gl Bfoa 2
(@ AR ST ATFAA FJRHRTE! T I FACH, TS Ao A
@ ST SI7F AP B Gk A C GTA BIA
B. B, First Second Third
: =) I |Switchl | Switch2 | Switch 3
T 2 | Switch 3 Switch 2 Switch 1
3 | Switch 2 Switch 3 Switch 1
(1) B (2) Bs 4 | Switch 1 Switch 3 Switch 2
3)B 4)N f'th
(3)B4 ( )d] %(;ge ﬂ% | Zs?;ﬁ?ﬁ - 56. hWeZiZil?alloy is used for making the element of electric
54.  Which observation demonstrates that light waves travel e i o5 ToTa wRET i
much faster than sound waves =7 ) RARLA *
TR (FICO! AT SR B FTA (T (AT TR > R
Et{q‘mm@%ﬁm? WW%WWWWWWW
v orframa(s Bt emifre A ¢, %19 SAer o e
AT O S4F oifOrars! 5rel, oige — (1) Brass / forea
(1) An exploding firework is seen before it is (2) Solder / (R=2I4 / ®ToIeT
Heard (3) Nichrome / f&@F / fSeerts
oo G rEe 2 =% wae were ol 1 (4) Alnico / STt
@ (eI TerR S fRrarae @t T 57.  An oxide of iron from the following is
(2) Light from the Sun takes eight minutes to weTe AT (FIH! (o1 ogiRe ?
reach Earth FiTea @A AT GF T SHLE ?
T ot #ffd =t wis fifi s 7w =Mt (1) Mud / G =6 / @t =ifp
ﬁﬂmmﬂf\ﬁmCﬁmWﬁﬁ%mWﬁ (2)Dust/{%|$°ﬁ/{%ﬁm1
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(3) Rust / 5= / faiwt

(2) Magnesium and dilute hydrochloric acid

(4) None of these / @Be 727 / @& 'S 71 AT B T A .
58. Zn+ H,SO, —> a gas. The gas is o e ) ) .
(3) Copper sulphate and dilute sulphuric acid
Zn+ H,SO, — @Bt &7 (oLl LG T W e wwﬁﬁgﬁﬁ ,ﬂ%\g
Znt H,S0, > <& s | o & FIR ACTED I3 7Y AAFCFE TS
(1) O,/ =TT (2) N,/ qETes (4) Washing soda solution in water and dilute
3)H, / 4) CO, / 1 O ZS nitric acid
O) 1 j2REEE (4 COx/ i aificgo o 7 e ol
59. Which of the following is an irreversible change? EN— . ) ? 5
) 7 64. Whichi th' qk \fﬂrﬁ'cil\ a;l\ af‘ill ing?
P . ich is the weakest acid among the following?
Fieo oG wefimesty ot TS TR (FITH! SIibizets ie «fe 2
(1) Change of water into steam P =
AT Sieitet oAfaaea / Te qreet AAfaae i WA 300 '.'EEE.!'W!”]I'E '
(2) Melting of wax/ ST 5% / (SR & (1) Citric acid / @G afes / 7RG wnfre
L (2) Sulphuric acid / BEfFees afze
(3) Transpiration / STgwa ~ -
(4) Corrosion/ Fqtedw / wareaw / R
60. Which of the following is an antacid? (3) Hydrochloric acid / 2Rz < «fee
TR (FCE! @BIET 2 / Frna @l wnibite 2 | zrreEfae e
(1) Mg(OH), (2) NaOH (4) Nitric acid / TG @fRe / TGS WP
(3) H.SO, (4) H,O 65. Paheli wanted to buy a gift made of animal fibre obtained
61. What is injected into the skin when an ant bites? without killing the animal. Which of the following would
A< FICNTS Qee fooee & e a2 be the right gift for her to buy?
TRiolTTa TS GCad fooa SreiaeE 2 2T AAF T A0 e oied [l com
(1) Acid / afg® / =iBie (2) Base / 14 / id Torgra Ffea faoifars | oo fraitaiea (@i Toge oize
(3) Salt /@ /@9 (4) Water/ =i / @@ MR #fow 232
62. How does colourless phenolphthalein change in the “AZa eltdft zeg 7 FA e Fiedd Wen (ofd @’ TR
presence of bases? faare orateeee | [ eea @ o e oo Je TogE
waa Toifgfoe qamRw ermrelem @ mwea sifvasa za e @2
IAa CoARfore 3 (wrmeTTLilm Freia dfaaTe zm e (1) Woollen shawl /1= ®iet / 23t *e1
(1) Remains colourless / a2 / I3 =03 A7 (2) Silk scarf/ fo@ =% / Fre ==
(2) Becomes pink / @@ataitet oifaasa 21 (3) Animal fur cap / *MifS 5fot / liia oSt Gt
/ CoenA =ea A (4) Leather jacket / 5114 SHITFG / BIISH SHICEE
(3) Becomes red / q€itat sifaqeq za / #ie 2@ T9 66. Silk fibre is obtained from
(4) Becomes green / (egaice 2Afeaey =8 (T8 oF BRGNS
/ S =0 9 (T3 ©g CATF 2iheTl T
63.  Which of the following substances react with each other to (1) fleece of sheep / (STIH (S / (STIF (AT
form salt and water only? (2) cotton ball / i1z / Fei
Wmmﬁwﬁmﬁ%mﬁm (3) cocoon / G (A1 (AT / e B
S A SAT FCI? (4) shiny jute stalk / TG 21154 7eq o4t / o5eE
fTDa i ot are St A Rfds ata wgena 67. Which of the following properties of iron is NOT a
(5
190 GIR Trel (O HCH ? physical property?
(1) Dilute sodium hydroxide and dilute weTe AT (FIeo! o (A9 (Sifes 4 12w ?
hydrochloric acid (g fefaiie wierena st @ @ifes of 7 2
Y HfCAI TREHLT W 7T TR afee (1) Electrical conductivity / tagfes #f<aizret
T, CWII%Q.INWQQ\WWW | ofe sifFaigret
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(2) Magnetic property / TFRIT 43
(3) Good conductor of heat / ®toia FoifaatZret

72.

Which of the following is a non-flowering and seedless
plants that grows on land?

TR (FICH! AT 2o T b 2w 2

/ Sitom Feifaaiiet o 5 Fo3 S
(4) with moisture to get rusted ; aie Al g ?
/ TSP (TS 4 B T4l (1) Fern / (ot / cofewa
! oIS SRR BoiT (2) Pine tree / 7141 9% / #iiz 9iig
68.  When the soil is too basic, plants do not grow well in it. (3) Hydrilla / 2i&fEet
To improve its quality what must be added to the soil? (4) Lily plant / =3t &1 / ===t
NS Sreyi{e FaFH 2re e Tiegna oremea 3 27 | 73.  In which of the following regions of human alimentary
e eMe Tre Fieatn F e sl wifag 2 canal does absorption takes place?
S i iR 2e T 3 wiean za ) e TR A (TG!S Ay Al 232
IR 3% FACS A R (ol FACS A S AW I S AWy eI 23 2
(1) Organic matter / ¢&a 2wl / tora omief (i) Oesophagus / TR TR / A=A
(2) Quick lime / ¢2ifat 5 / FfeTpat (ii) Liver / T%&
(3) Slaked lime / St p= (iii) Small intestine / "F@Ig
(4) Calamine solution/ FIEAS2 &4 / FTieAIS2A TG (iv) Large intestine / 329
69. Which of the following set of substances contain acids? (1) Both (ii) and (iit) / (i) 1< ( 1i1) / (i1) @R (i)
weTs fal (Fiaa Amide afge =it ? (2) Both (iii) and (iv) / (iii) @< ( iv) / (iii) @3z (iv)
Fva @ 2w emhe witg 2 (3) (i) (iii) and (iv) / (ii) =<e (iii) / (ii) €= ( iii)
(1) Grapes, lime water / Sgd, B 2l / g, e Erel (4) All of the above / SIBIR(FED!/ TATIA FALTEN
(2) Vinegar, soap / feta91=, 5itae / fermaia, A[m 74. A simplified word equation for photosynthesis is
(3) Curd, milk of magnesia / 0, e ot (waiatem Carbon dioxide + water — glucose + oxygen '
w2, " What other necessary factors for photosynthesis are not
AT highlighted in this equation?
(4) Curd, vinegar / 0%, f&ta9a / w2, fetaatia ATEE ARl eiferaa e ANF ! (20
70.  Which one of the following is not a breed of sheep? X T TEET | A g | S
TETe WA I (FICH! (ST 2enifs 727 ? = ] a:
& S S w7 2 G2 ARRFACICS ATEF AR AT o=y @
'1 iy Chf[" / N TR FA AR (A9 (@A AR ?
(z)MuHa ./l ‘ I‘/’ e FEE FCER elferaia e TR0 26
(3) Lohi AR TR Tl) (1 S [TR Tl FTZ G
(4) Nali / 7ife1 / 71t
wiEA ofees w4t 2ok 2
71.  What does a vascular system transport? (1) Humidity and light
9 P P
T sﬁ;ﬁs ””mwj' e T S/ W @R S
“‘w(l' )ws y e af" Wz - (2) Chlorophyll and light
ceds, water and +oo FAE I (AT FICAR @3 Tl
2 j@-ﬂd gl ?ﬁs .agﬂ /?ﬁh’tw R A (3) Light and nutrients
ceds, water and Sunig . (PizT =i 2ff% / e @3k 4TS
e, 9@ B TR /9, e @3 T (4) Chlorophyll and nutrients
3) \Zr?%e[r, mineral slats and food s o ?_[F% | i aar 7;[%
’ T EIE W 75.  What is the ultimate source of energy for all living
e Aferer T R A organisms?
(4) Water, sunlight and mineral salts FECET G194 AR *G Pl T F 2
AT, TR CoAre s <ferererad I GG 2 T *eq pUE T i 2
T, FCART G3R dferer el (1) Water energy / @& *If&
(2) Wind energy / g *if&
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(3) Solar energy / (4 *if& / G *f&
(4) Chemical energy / amafae =if& / amafes «fe

79.

Read the following statements with reference to the villi of
small intestine

were frall T Tz Fuige 4F fefta crae wigm 41

76.  During photosynthesis
T ALTEROR ATTS Froa Tz Fuires feff 7 o sE—
HACETS AL T (1) Tlgey have very thin wall
(1) Solar energy is converted into oA (S #Are7 (T3 ACE
mechanical energy oitwd ’ﬁ? ICEINCRIE R [47)
SrtE *Fare Wiea i1) They have a network of thin and
e = ( )smaﬁlblood vessels close to the
o Mg =fere Fiea = surface
(2) Solar energy is converted into Foq ‘ﬂ”é? GBS AT [ AE TG(2 ToAq GF
chemical energy S 7 Il
Gt qrmiae =fets wige 2 SRR “JTHR FRIFIR AT @3k (=B TSR AR
Cha=ife il «fere Piea = T T A T SR |
3) Chemical energy is converted (ii1) They have small pores through
into mechanical energy which food can easily pass
s (e AifEe *feta Fiea = TEoA e ¥ ey AT AR AW <A HEGCS A
IR *fe TifEe «fere Piga = 02 TR #Ita
(4) Bioenergy is converted into ©Itva (25 %Y AtF T9 N Q4w T=1E @re
chemical Energy AT
o7 =i A «fets g (iv) They are finger — like Projections
e #ife A *fete piea = R R et
77. Bileisproducedin _ and stored in Sl (TS HTFATAD TCS! ST 7wl
e cTevmzmwiws wwid| Identify those statements which enable the villi to absorb
Pree = @A MY TOMTAEIR_ G WY T 2 digested food
(1) Blood; gall bladder / (=%, fore / 7@, fore I BfETa ~irvr=ran < el comael =1 e
(2) Liver; spleen / a§¢, &zl / 7e, &gt R ¥ e w0 7 fefzme v zem < e
(3) Liver; gall bladder / 7pe, Pre / wpe, Pore FEEIL
(4) Gall bladder; liver / fora, TP / fore, TP (1) (1), (i) and (iv) / (1), (i1) == (iii) / (i), (i1) @R (iii)
78.  Cud is the name given to the food of ruminants which is (2) (i), (iii) and (iv) / (i), (iii) @I (iv)
AT C2TR (AT AT afdy <@ 7 sl tave. / (i), (iii) =R (iv)
<[{wj (3) (iii) and (iv) / (ii) =< (iv) / (ii) @3 (iv)
@I 2K AW TR TR (@A) T Td_ AW (4) (1) and (iv) / (i) @< (iv) / (i) @9 (iv)
(1) Swallowed and undigested 80. Gastric digestion takes place efficiently in__
faifer carat s wriel / fairet et @k welisy SR wifoe o ©ita viewibe 2|
(2) Swallowed and partially digested AFZAREE A6 ATIs ©Ita AWoe 27 |
fafecarat =i @ikt ©ita siiow (1) Acidic medium / «fofes sy / sniffes My
foirerdient @3 S St iy (2) Alkaline medium / TS ML / AT LT
(3) Properly chewed and partially (3) Neutral medium / @M LTS / @S S4ICS
%ﬁﬁ%mmm P 4) };ifghly alkaline medium / ¥ <@ e /
¥ AT NG
5% S e e e it =1os 81. How many premolars tecth found in mouth?
(4) Ig?é)eesr:gdchewed and completely TR s P2 (O TS AT ?
o= ©iTa §aal O 94 siivel Eﬂﬂ'&?{jﬁ@ﬂ 9@3(@%:35?
F5% ©ita ot @@ 7sfaarat 2 23;6 24;8
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82. The enzymes present in the saliva convert (1) Kideny / 3@
AL AT CLACE [GREKEEIa] (2) Ureter / T@if2a
YR AR T AT T e BRIE ] (3) Urethra / @it / S@ett
(1) Fats into fatty acids and glycerol (4) Urinary bladder / @ngﬁ
5 & afbe =i faptae 86. The absorption of nutrients and exchange of respiratory
4 516 =mhre «az fameE gases between blood and tissue takes place in
(2) Starch into simple sugar (ST W% (o111 ere 78 Ta7a (<IIFel o< %1 TET (o1ed
CYSITE *F ! / YO I *FACS Y- T2
(3) Proteins into amino acids T@ 93z, B T Aff8a eedtaet w3k e e Stvie-
aifoeie afiiet @foe / ceiifoa e whre AW TCo T T, ©f TA—
(4) Complex sugars into simple (1) Veins / forat / férat
Sugar .
& RSP AN S S —— (2) Arteries / :flgﬁ / ﬂ?
83. Sometimes when we do heavy exercise, anaerobic 3) Hea'rt /‘?.-g % /7S
respiration takes place in our muscle cells. What is (4) Capillaries/ (% et / (M el
produced during this process? 87. Aquatic animals like fish excrete their wastes in gaseous
i (Ffenal wfes F6ae FEra wme (ofiq @ e formas ] )
TG S W AT T FACE SN (A (TR ST SfermiR fca | )
TS -2l W5 | G2 elfery F e am e TR TS TSI SItwd i e 2w R ot
(1) Alcohol and lactic acid / GF1&Za W< (FFHF BT FE—
W tﬂac\wwﬁg (1) OXygen /W@m
(2) Alcohol and CO, / ew@ze v CO, (2) Hydrogen / 212G T&
(3) Ammonia / @s'fet / siyeaferat
@A @3k CO, .
o s (4) Nitrogen / 128 &=
(3) Lactic acid and CO,/ #=fos afow ai® CO, 88.  Vegetative propagation in potato takes place by
FHF SmTe @3k CO, A CFAS SIS Gl Skl
(4) Lactic acid only / (%% (eF 6% afoe Fpa @wiva T wiere e a3 T —
W FFHF @b (1) Leaves / 2I1S / #ii®t (2) Stem / Fi& / TS
84. Breathing rate in human beings in normal condition is (3) Root / #isit / e (4) Seed / &
AEe SAFS AR WH(FAE 2 (2R 89.  In which of the following plants buds are present on the
RIC&E Froifds S@gT Wy 2 20 margins of leaves?
(1) 12-15 times in a minute O (FICH! TG TFe 2id I 2T ?
ffie 12-15 9@/ 9= Ff s 12-15 3= Fpa @M itz Afed Awsit Fe AT ?
(2) 15-18 times in a minute (1) Bryophyllum / (F3*siZe1s / #iiea< (o
fifibe 15-18 12 / @ s 15-18 2 (2) Touch me not / FGH 3+ / TGS
(3) 18-22 times in a minute (3) Chandan / &%=
(4) 22-25 times in a minufe 90. In yeast reproduction occurs by
ffeioe 22-25 3 / @& Kl s 22-25 3= s 2 TR e T
85. The muscular tube'through which stored urine is passed o783 @l ¥ B, Ol 27—
out from the body is called
i 3 Rroter (o1 - e e WS o1l ezt (1) Fragmentation / fyerer
G2 W73, OiF @ (2) Binary fission / f&-ete=
A T (@ N AR e faca =R (2w @R A (3) Budding / =™
oI Gt (4) Spore formation / (3¢ a1o¢ / A9 a9
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91.  Which of the following parts of a plant takes place in (1) (1) and (i) / (1) =0=e ( i1) / (1) €_% ( ii)
B s
1) and (ii1) / (1) ®<e (ii1) / (1) 9<% (iii)
s rem Sfgrm G oo (T erem fara wenerzel (@) (i) (ii) and (iii) / (i), (ii) @ (i) / (i), (i) <@=e (i)
FE— 95.  Which one of the following is an animal product?
(i) Flower / F&1 (ii) Seed / A &9 (05! Alaee AW
(iii) Fruit / T& (iv) Branch / Efet / =14} frea @lE 2Aifere g9 2
(1) (i) and (ii) / (1) =< (ii) / (1) @R ( ii) (1) Gum /9= /=gt (2) Catechu / 4089 / T4
(2) () (i) and (iif) / (i), (i) @19 (iif) / (D), (i) < i) (3) Honey / G /54 (4) Rubber / 3 / 71
(3) (ii1) and (iv) / (ii1) @< (iv) / (ii1) @=L (iv) 96. Decompose is convert the dead plant and animal tissue
(4) (ii) (iii) and (iv) / (ii) (iii) == (iv) into
/ (i) (iii) @3% (iv) s Eifmaed@ s @ wiwa T
92. Plants store waste materials in G T Siene 2idia Bgre geiwfae #|
Tfow e smidomz . e Al (1) Clay / Gt =if / =t =ifS
Tfgw ey et awwiw (2) Organic debris / (A4 / TEA-4RLATE
(1) Old leaves / %@fa #ire / 27 itet (3) Inorganic debris / SEA-4RANIC* /
(2) Vacuoles / T4idt / asidh BEE- YA
(3) Both I and 1I/ (I) =11 (I1) &= / (1) @3z (11) Teg (4) Soil / =fs
(4) None of these / @Bl 727 / «FoS T 97.  Arrange the following components of a food chain in
93. The ovaries of different flowers may contain proper sequence — frog, grass, eagle, snake, insect
Rfengrafoamme At weTe el QAW WG T, wE Fe |
Rfengrm oo A=) ceFA, qlz, e, M, ofen
(1) Only one ovules / 9 @5t f&F1e / e @6 719 s et A W [TeTa TAMRSTE AE A TS
(2) Many ovules / Igte! foq1e / 32 foq1e) Fle, 9, Fale, A, oie%
(3) One to many ovules / 4FCa w4 fEFie / (1) Grass — insects — frog — snake — eagle
A i o 9z — 9% — (SFEA — AA — FoE
(4) Only two ovules / 3I1@ ¥o! f&g19) / 311@ 46 Tl T — AT — e — A — Folw
94.  Which of the following statement is / are true for sexual (2) eagle — snake — insects — frog — Grass
reproduction in plants? Folel — AA — A% — (SFeAl— WR
TG (A 2T (FA© TET (FID! G 7] ? Hafet — A — 2fe% — e — TA
Tfema (@9 eiewna Coee [Fe5d (&1 Sfe’ 7o ? (3) Grass — snake — eagle — insects — frog
(i) Plants are obtained from seeds / few e #4120 R — A9 — Fofel — A% — ceFe
/%7 T (e et am A — A — T — o — I
(ii) Two plants are essential / 451 ©fgwa eiraem (4) All are possible / SIBRLFLD! G / FRGTAI G
/ %% e 2irarem 98. Sequepce that represents the series of eating and being
(iii) Fertilization can occur only caten is called
after pollination i orarc e e ofiFe cerat e qEm erE____
AN (TS (FIA T4 23 #AIT3 G|
N S (3 SRS Tl @ SfFe 29T (MBI @RIE T
(iv) Only insects are agents of Pollination @l
/ ARSI ST AL (=R 219% TZ (1) Food series / <wy c#&t
/ 2[RI GFE P TR 219% TR (2) Food chain /wj *&[&1
Choose from the options given below (3) Food web / «1wj &rlet
were frdll g TRd 741 AR el (4) Food hub / Q7] bertee
Fivs (rent g (At @S
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99.  Which is not digested by human? 103. Seema is the wife of Gopi and Gopi is the brother of
TR (FICH! M2 TG 49 QA2 Akhil. Akhil is the uncle of Vijay. What is Vijays’s
'ﬁm wmﬁ W m FAS m? relation Wlth Seema.

(1) Protein / &34 =T, Coit A & =i ot (atr e ol | e (2R
(3) Glucose / 58 / T F Z= AN B @G3R (AN T A ok | e R
(4) Cellulose / (a7 /GIaTeaT s Fiw! | oierE AW A Fewms F 7791 2

100. Given below are some food items (1) Son /7=
Wﬁsw qw<E el tare 2) Nephew/m/@*’n
ﬁmﬁsgw weT 28 (3) Brother in law / *FI"'H‘%I/ WLk

(i) Boiled and mashed potato (4) Brother / SIta& / ©%
Tireal =i oifw #1 SIG 104. Choose the missing terms out of the given alternatives
o @3 ot 741 =g R, V,X, A, D?
(ii) Glucose solution / 5% 49l / LTS w6l REE'Vs f{mA'a“D‘ﬁ? A =11 7 =Moo Afe St
(iii) A slice of bread / GFFA €T / GFHFCA! (FC onrs fem RV XA D eifie ol e
(iv) Mustard oil / figites / #feaa (oo — T
Which of the above will give blue-black colour when DF NG
tested with iodine? 8 o E 43 1
AT (FICH! TG (TS FeAiTe Taq R Aen-Fer 272 :
105. Choose the one which does not belong to the group?
STAITGTR AT AT FACEA ST FAD A FICA| ATE st A TEea 2
oz — e Tz (e ¢
(1) (1) and (i1) / (1) == (i) / (1) @3 (i) (1) 189 (2) 369
(2) (1) and (ii1) / (1) == (iii) / (1) @3R (iii) (3) 159 (4) 279
(3) (ii) and (iii) / (ii) =< (iii) / (ii) @32 (iii) 106. Manik is fourtheenth from the right end in a row of 40
(4) (i) and (iv) / (ii) @ (iv) / (ii) @< (iv) boys. What is his position from the left end?,
40 T FTEI G5! ¥ NoF EIF 231 Ggn= FTe
REASONING / fawfaz / fawfag (25 Marks) ity | Aewer A4t (969 g & 29 ?
T 40 TR T T 2T (ATF SIw+ ZITH ACTC=A | AN

101. In a certain code language ABCD is written ZY XW then AT (ATF A SAZA ) 2
how is the word DANCE written in that code? (1) 24 (2) 25
@Bt ffwe Awefes eare 7t ABCD F ZYXW @ fat =3, (3) 26" (4) 27"

(ST8 CRATFe DANCE & & wia ferdf =3 2 107. If the following numbers are written in descending order,
a5 Wwe @re SEm ABCD @19l & ZYXW, Sizta then what will be middle digit of the middle term.
& @t DANCE *%% (514l 2% SIei7a ? 723, 789, 595, 659, 713, 785, 689
(1) WZMXV (2) MXZWV ﬂﬁWﬁmﬁt’mﬂﬁmeW, mﬂ?ﬁ?ﬁ?ﬁ
(3) VBZXM (4) ZMWXV Y SFH! [F 29?2
102. Sukanya want to see a movie a days ago. She goes to the 723,789, 595, 659, 713, 785, 689
movie only on Thursday .what day of the week is today? forpa AT T Qs (@12l 2F, ©rF NGEei oM
TR < wate @ forr v Reifafem | o e 723,789, 595, 659, 713, 785, 68947 T AT TS ZTA 2
JTifeaita 21 o2te 9in | wifS AL @ ieeo! e 2 (1)1 )7
T G WA G B DT (TS 7 | (T g (3)8 4)3
m Bl were el | ©iE ALTEA @i 2 108. Choose the correct option: Mountain: Height: Climber
(1) Tuesday / ToreTa1a / IR % Th AR O &3 2T Tt : el Gl
(2) Thursday / J2=ifea1a / gz=ifears o e foafon e o1 - Twel : @y
(3) Friday / &@ 19 / @< (1) River: length: water / Tl : (F¥0 : 2t
(4) Saturday /*feRra /=fara @ o e
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(2) Land: farmer: crop / $f3 : §9& : =57
/e FTF T

(3) College: building: student /
R : Gt v

(1) Treasury Bench / @G&ifq (A% / @Geifd (@%
(2) Focal Bench / =& (3%

(3) Ministers Bench / fifi@ia @ / Fif 8@ @
(4) None of these / @B€ 727 / GF6S 77

| EifAmsiETs : oa e - v 113. In which place Harnaaz Sandhu was crowned as Miss
(4) Sea: depth: diver / 914 : SrSIT! : TIA Universe 20217 o - -
/T : S : GqA TS AR 2021 I PR TTSL IF6 @ “ifahiee 2
109. Vijayan started walking towards south. After walking 15m Qe I 2021 fim e e Ty 3556 At
he turned to the left and walked 15m. He again turned to CF¥ SIS 9
his left anddwalkelii 1 lfgl How far is he from his original (1) Seminole Hard Rock Hotel & Casino
position and in which direction? | (BRGE TCTT (2ITHA € iR /
e wtwerrte CAESil Ita oS Fhace | 15 o e S
i s 1 lewiee 1f4 15 : . iF{'C/I_JI (2) Tyler Perry Studios / (5319 (5ifq §few /
=it atewite 9fq 15 fivE A | S T9ww ST (oif Bfoere
(PeIIT Y 9131@5{7{ s 1T OR? (3) Hotel Mughal Sheraton / (ZT# CII91&1 (XI5 /
s v Wi 2151 &% Fa | 15 [ 2o #[ &1 9EE o B e e B
o T frrw KSR M | e o el (4) Universe Dome in Eilat / Teei% ©% 3 216 /
(AT TS G4 G (Fi W R0 ? P
o . ZFNCOA Lo (It
(1) 15m north / 15 /15 ; ’ 114. Which of the following commentator was not a cricket
(2) 15m south / 15 fFBta wfaFTe / 15 FiE i player?
(3) 30m east / 30 2/qS / 30 #F T (FEE e (FEse yaremee e @b (deta
(4) None / @B1e 72 / GF618 77 EETEY
110. If the given interchanges namely: sign + and +, foroe o gfe frrase garemee e fog fas
numbers 2 and 4 are made in signs and numbers which one CATETTS forEm =1 2
ofthe following cquation would be ot (1) Ravi Shastr /8 /21
ECMACICACHE mwﬁ;ﬂq@mﬁ? (2) Harsha Bhogle / 2 ceiar=t / 20l celo=t
fr elre Smerave a41 5% + @ag =, A 2 @32 4 o ®) I/ftlkar Al Khan:n?ﬁwm SR <
GAR AR (S T, O3 e (e FAwad AGE 2ta— S I ”_'
(1) 24+4+3=3 (2)4+2+6=15 s Wh'(AL) Sa}de:rhmam/Z’I'ﬂ:ﬁﬁﬂiﬁ/hTﬁﬁmﬁT
(3)4:243=4 (4)2+4-6=8 : ich continent have no active volcanoes?
111. What is the colour of black box of Helicopter? al RIS (T ”ﬁ”iﬁl ii’%ﬁ'ﬂ‘f\'iﬁ TR?
b @@ AR fFe (I TR A e e
(ZERIBITAR FE TCIR A F 2 (1) Asia / @@t / @
(1) Green / GRe&a / 7@ (2) Australia / STl / =6 forat
(2) Red / et / =iat (2) Antarctica / @51ABF / SHBIFOF!
(3) Black / %1 / ®itent (4) Europe / ¥eta7l / / Tl
(4) Orange / F¥&1l 116. Following which cricket player has completed 2000 runs
112. The benches in first row in the parliament house occupied 1212); 12021 (;)lggdar yearzf - )
by the senior leaders of a political party or union ministers Ll A F A ERESIEE
are called............. @i+ ferTb CATaTe 2021 FCTSE q=ea 2000 71+ 7jef
T SIS AGLATSF o4 (& (T WA (FHT TR FCACE ?
T 2T AR (@ TZF (1) Virat Kohli / a5 &z / &5 @izl
T S AGCATST WCETH (TP (1o A (FRIT AAHA 9 (2) Paul Robert Stirling / #i# <4i6 Braferc /
TR 2 =D @ TIF Bl G GGG
14 &8 AJMAL SUPER 40 Admission Test — 2022 / AS40 / Date - 09-01-2022 / CS-VIII

&% Run by AIMAL FOUNDATION



(3) Mohammad Rizwan / &% fSeraie /
cerw fRereis /
(4) Shikhar Dhawan / f&i< «iaie / fia sieatw /
117. The members of the panchayat are:
ALASS T 7Fe1 (RAZ—
(1) nominated by the district officer
ferent a1 wi sCaire
(Tl TS TG TS
(2) the electorates of the respective territorial
constituencies

e v arEsi o Fafte
e e enwfere b aetieE FabeTeat

(3) nominated by local self-government minister
of the state

e GIFAA TR QF TS
TSI FAT FIEFE TG TGS NS

(4) nominated by the block development
Organization

7% Trmel sifqawa qiat Ao
& el AT WA WA

118. Which state became the first in the country to attain open

defecation free status?

e BT Terortel T& ATHA T (AT 2o qTHUTe
= f& 2
(I ST (A STeTesol @ TV TS (e 2L
RCACR?

(1) Sikkim / fefFw / ifew

(2) Haryana / 2ifsmiat / zifast

(3) Himachal Pradesh / fZ=ioet efrwt

(4) Manipur / S / wfFe

119. Which city will host commonwealth games in 20227

(I <7 5T 2022 5o FAMCIER (45 TG B0 27 ?
2022 FATEA FIMETTAL (91 (FIe *1Z0A T8 24 ?

(1) Birmingham / Irafsiezst / Atfsiczrst

(2) Durban / ©I9319 / ©IFAI

(3) Ireland / ST / AWATIES

(4) Johansburg / (&IZI® s

120. Who among the following was the youngest to win Nobel

Prize for Peace?

g 73E 35! fAreret wibiRelE Fw Ffew @@ 2
Tt ferem 2
(1) Lawrance Bragg
A @91/ = . &g

121.

122.

123.

124.

125.

(2) Frederic Joliot
g glems / @refas ceifers
(3) Rudyard Kipling
wome Foifer / woame Foifer
(4) Malala Yousafzai / WW

If the following words are arranged as per the alphabetical
order of dictionary, which word will come in the third
position?

T weTs wal *¥ IZ WS TS FCEA! 2, (ST TOIT

FiTe 4F B 2T
TFIToa =% TS A eSS YA S AW 23, 61 FIA0
W GO BT T(A ?

(1) Nozzle (2) Normal

(3) Nostril (4) Nomenclature

Choose the correct mirror image of given word.
TERMINATE

TERMINATE =< oief aifsfaqest 29—
TERMINATE =57 i aifefamis sra—

(1) TIAMIMUAT3 (2) ITAMINATT
(3) ITAUIMAIT (4) ETAUIMAIT

15 Children or 12 Persons can go using a lift. How many
children can go with 8 persons?

T 15 &= fiie Se@t 12 o efte 3% SR @bt ferebe a9
T3, (SCT 8 T &Y IIF T2 #19e Fewiierem e 19
oAfea 2

T @S fores 15 o fite wieat 12 o 2} 3% e
GFATA (TS ATA, A § T 2 IF (FFA AL F© T
i @S ol ?

15 (2)6

(3)7 48
Find out the alternative figure which contains figure (X) as
its part.
! T foaa X bt =g 2
@i @y fora X @@l went 2

(%) (1) (2) (3) (4)
Answer the given question based the following English
Alphabet Series

TETS WHl TEG T et Tofe i1 worq 2pa Tea
T

TFies Trarie 2RIE e T 2l ST Ted wie |
ABCDEFGHIUKLMNOPQRSTUVWXYZ. is reversed.
Which is the 8" letter to the right of 6" from the left end?
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ABCDEFGHIJKLMNOPQRSTUVWXYZ. & €r&510%
ot alewema #iie 79 o3 Weaw GIFTa gew B
& aifea e

ABCDEFGHIJKLMNOPQRSTUVWXYZ. (& #5! aita

(1) Will the ingredients of the recipe been told
to me by you

(2) Will the ingredients of this recipe be told
to me by you

(3) Will you be telling me the ingredients of

s amive (At ToeT B AT THED TS B the recipe
BT @D R A 2 (4) None of these .
. My garden is looking lovely, now tha affodils
() E Q) H 136. M d looking lovel that daffodil
G)M 4) S are 1(n1 il;);ver 2
(3) the (4) none of these
ENGLISH /33 / 2%AlGt (25 Marks) 137. He never listens to classical music
126. Which tense is used to express an action that began in the (;) a (i) the il
past before some point and continued up to that point 138, 1d (. g aIL Kind of (' ) no article
(1) Past indefinite tense - dentily the kind of sentences:
It is raining cats and dogs
(2) Past perfect tense 1) Affi . ) Excl
(3) Past perfect continuous tense (3) I 1rmat1\fe ( 4) OXC amatory
(4) Past continuous tense (3) Interrogative . (4) Optative
139. Please tell us the story of Cinderella
127. Jackand John  helpful 1) Optati N .
(1) be ) is (3) 1 ptative . (4) I\rInperat-:t}Vlel:
(3) was (4) had been o, ( )bnée“l‘.’lfa“fvle . (C)h one o these
128. Identify the tense used in the underlined phrase- “She -~ Everybody likes flowers™ - Change this sentences to
speaks less but has strong opinions” a negative sentence .
(1) There is everybody who likes flowers
(1) Present indefinite tense (g) Ilill ok\:v er ?.rke hlaed by all
(2) Present perfect tense ( 4) Nobo dy (; ?'Sk ozlvers
(3) Past perfect tense 141. O ( )h 010 Y lls 1kes c})lwzrs K side of life is called
(4) Present perfect continuous tense . One who always looks at the dark side of life 1s calle
129. They had played a match (Change the narration) o -
(1) A match had played by them (1) Pessimist (2) Optimist
(3) Fore-teller (4) None of the above
(2) A match had been played of them . .
142. A person who leaves his own country and settles in
(3) A match has been played by them h i< called
(4) A match had been played by them anot 1er20u}r11 try 1s calle ) Immi
130. Ihave done my work (Change the narration) ( 3) Eut' or ( 4) Tmmlglglr ant
(1) My work have been done by me (3) Emigrant ) ravetet
143. A form of government where the king is the supreme ruler
(2) My work has been done by me i< called
(3) The work will be done by me 15 caled . .
(1) Dictatorship (2) Kingdom
(4) My work has not been done by me DM h D
131. The cat jumped the chair (3) Monarchy ) (4) Jemocracy )
(1) of (2) off 144. The school was struck by }1ghtn1ng (Ch_ange the voice)
(3) against (4) after (é) Ith}(l)ol. was strukcklllng tl}lle hlghtmng
132. The examination will be held 8am.to 11 am. (2) 18 tn?“g struck the schoo
(1) at 2)in (3) Lightning was struck the school
(3) from (4) on _(fl) The school had b;en strucking by lightning
133. The dog sprang the cat 145. Hari Jlurilped __ theriver .
(1) at (2) in (3) ot (4) n
(3) by (4) upon (3) On (4) against
. 146. The pencil is the table
134. When the bus arrives, you get  the bus D A ) Off
(1) at ) in (3) ot (4)0
(3) on (4) up _ (3) Onto (#) On
. . . . . 147. Distribute the apples the children
135. Will you tell me the ingredients of this recipe? DI M A
(Change the voice) (1) Into (2) mong
(3)Between (4) Within
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148. Choose the appropriate word synonymous to ‘Benevolent’

150. The synonym for ‘complicated’ is

(1) Generous (2) Adventurous (1) Easy (2) Difficult
(3) Bold (4) Brave (3) Tough (4) Complacence
149. Choose the correct option that stands as antonym for
‘Pain’
(1) Anguish (2) Cowardice
(3)Pleasure (4) Smooth
17 &) AJMAL SUPER 40 Admission Test — 2022 / AS40 / Date —09-01-2022 / CS-VIlI
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AJMAL SUPER 40
_A TRUSTED PLATFORM FOR NEET & JEE |

ONLINE REGISTRATION OPEN £7%7;

ADMISSION CUM SCHOLARSHIP TEST

Eligibility: Class X Appeared Expecting Eligibility: HS Science Appeared or Passed
85% or Above Marks in Final Exam. With 75% or Above Marks.

Aspirants who could not appear in the SCHOLARSHIP & FINANCIAL AID
Admission Test held on 9th January-2022

can Register now (Only for XI) the second phase TOP 40 §TUDE!‘ITS (in written & oral inferview) will be
e ) provided with 100% Scholarship in course fee
of Admission cum Scholarship Test.

All The ‘HAFIZ’ Students will be provided with
SCHOLARSHIP & FINANCIAL AID 100% Scholarship in course fee

OP 40 BPL STUDENTS (in written & oral interview) will be 50% Scholarship will be provided to the Students
provided with 100% Scholarship in course & Hostel fees from SC, ST and TEA-TRIBE Communities

All The ‘HAFIZ’ Students will be provided with 30% Scholarship will be provided to all the Students
100% Scholarship in course fee belonging to BPL Families

50% Scholarship will be provided to the Students 20% Scholarship will be provided to the wards of
from SC, ST and TEA-TRIBE Communities VENTURE/PVT. TEACHERS & 4TH GRADE EMPLOYEES

A Special Concession will be provided to the wards A Special Concession will be provided to the wards

of DEFENCE PERSONNEL of DEFENCE PERSONNEL
DIFFERENTLY ABLED STUDENTS (PWD) will be given § § DIFFERENTLY ABLED STUDENTS (PWD) will be given

a special preference in taking admission a special preference in taking admission

Many other merit scholarships will be provided Many other merit scholarships will be provided
to the deserving students to the deserving students

Admission in AJMAL SUPER 40 is subject to qualify the Admission Cum Scholarship Test followed by Personal Interview

09 s00'[ 52 550'] 112 500
Date of Admission Test will be notified in our website & through text messages
SYLLABUS FOR BOTH THE EXAMS IS ALREADY UPLOADED IN OUR WEBSITE

All sorts of electronic gadgets like mobile FOR ONLINE REGISTRATION

phone, laptops, tablets, etc. which may =
lead to wastage of time, are not allowed Visit Us @

in our campus. We provide all WWW. aimalsuper40 in
those items as and when required ) ;

Ty www.ajmalfoundation.com

Around 150+ Students are expected to get seat in Govt. Medical Colleges
Q 9957979477 | 6000684005 | 7035868755 | 8812051263 | 7253009925

AJMAL FOR EDUCATION, EDUCATION FOR ALL.
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